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* Minor updates for StilstDetectorBuilder
* Test of Sti IST geometry




. Minor updates on Sti IST geometry

1. A variable (bool type) added for StilstDetectorBuilder to switch between the IST ideal

geometry and survey geometry.

StiIstDetectorBuilder(bool active, const string &inputFile, bool buildIdealGeom=false);
virtual void buildDetectors(StMaker &source);
virtual void useVMCGeometry();

StiMaterial *mSiMaterial;

StIstDbMaker *mIstDb;
[ bool mBuildIdealGeom; ]

StiMaterial *mHybridMaterial; Sh ISt DeteCtO FBU | I d er. h

TGeoHMatrix *combI = 0;
(!mBuildIdealGeom)
combI = (TGeoHMatrix*) istRot->FindObject(Form("R%04i", matIst));

combI = gGeoManager->GetCurrentMatrix();

(combI) {
combI->Print();
} {
Error("useVMCGeometry()", "Could not find TGeoHMatrix for sensor %d in database", matlIst);

.
r

StilstDetectarBuilder.cxx

2. Adjust the tube volume dimensions:

half depth: 60.09 cm (identical to the IBMO tube depth defined in GEANT, which includes the

length of cooling lines on west/east side).

Z-center: -4.5 cm (6 sensors per IST stave are not placed symmetrically w.r.t the stave center)




Sti IST geometry test
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Sti IST geometry test
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